DEV/CE*MASTER®
T

Mounting Kit
Quick Installation Guide

-—-A— ComtTROL’
v



Overview

Use the following information to attach the mounting kit to the DeviceMaster RTS/LT16.

Note: If you want to mount this onto the Comtrol DeviceMaster Rack Mount shelf, you also need to purchase part number:
99160-1.

Kit Contents

This kit contains the following:

*  Two DeviceMaster RTS/LT16 Panel/Rack Mount Brackets
*  Four 4-40, 1/4” Phillips Pan Head screws

*  Four 4-40, 1/2” Phillips screws

*  Four 4-40 black Keps Nuts

Requirements

To install the kit, you will need the following:

*  DeviceMaster RTS/LT16
*  Phillips screw driver
e 5/16” nut driver (if also installing the Rack Mount Shelf)

Installing the Mounting Kit to the DeviceMaster RTS/LT16

You can refer to the following drawings for installation procedures or view the 3D animation at: http:/www.comtrol.com/
ethernet-device-servers/devicemaster-rts/devicemaster-1t16.

1. Remove the four Phillips screws from the sides of the DeviceMaster RTS/LT16.

2. Align the bracket with the DeviceMaster RTS/LT16 and attach the bracket with the 1/4” Phillips Pan Head screws shipped
in the kit.

4 - HW_Name Doc_Name User Guide: 2000629 Rev. A Overview



Mounting to a Panel or Wall

You can use one of the two following options to mount the DeviceMaster RTS/LT16 on a panel or wall.

B 12.100 _
S
3 M
] 0 0 8
— | FIXEDPANEL MOUNT ) oS
0 of ™
i N

Mounting to the Comtrol Rack Mount Shelf

Use the following table to reference the numbers in the drawing.

Mounting to a Panel or Wall DeviceMaster RTS/LT16 Mounting Kit Quick Installation Guide: 2000629 Rev. A -5



ITEM NO. DESCRIPTION Qry.
1 [SHELF, RACKMOUNT, DVC MSTR ATS/RTS| 1
DVA, DEVICEMASTER LT16, RJ45, 2€ | |
SCRW, PPH, 4-40, 1/4", BLK
BRACKET, PANEL/RACKMOUNT, DM LT16
SCRW, PHIL, FLAT, 4-40, 1/2", BLACK
i NUT, KEPS, 4-40, BLACK

o bW N

B A I -

Customer Support

Comtrol Technical support recommends using the latest software.

In the event that you require assistance, you can contact our Technical Support team.

Contact Information
3D Anima- http://www.comtrol.com/ethernet-device-servers/
tion devicemaster-rts/devicemaster-1t16
Forum http:/forum.comtrol.com

Downloads http://downloads.comtrol.com

Web Site www.comtrol.com

Warranty http:/downloads.comtrol.com
Information

Phone +1.763.957.6000

6 - HW_Name Doc_Name User Guide: 2000629 Rev. A Customer Support



